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Practice C .
For use with pages 64-70 a

Graph the numbers on a number line. Then order the numbers from least
to greatest.

1. 4, —2,and0 R
ettt e 1-204]

-2 -1 0 1 2 3 4

Tell whether each number in the list is a whole number, an integer, or a

rational number. Then order the numbers from least to greatest. W= Wware W (‘IMQ,)
. 6, 067,05 6. 303513, 1 T = hsTecen (e
T g ’ 4 - ’8 R = Rationwe
AR BN M, 82513 pdec g
For the given value of a, find —a and |al. N
7. a= 2 —o. = = (k) =l
; lol = |-8l) = Gl
aluate the expression when x = :—6.25.
12. |x| — 525 13. [x] 14, | —x| +
- _ - - +(=x) 4
3 \ o B
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m Practice C ;
For use with pages 73-79 #

Use a number line to find the sum.

1. -7+5 -2) ' 3. —13+(-8) (-
a. 19+ (-5) H} 6. -9+ (-12) @:1

Find-the sum. —EAACT 108 PROGLENS — ANswens W TH FRACT gs !
7. 2125432 - -4, 8. 17.6 +(-48) /4.3
—_— ==y 7
y 3 1 ] e 2 1 |
10. -6+ 105 % 1‘8 11. 3§+(—6§) .:_Z s =
13. 421 + (-3.6)+ 24 ) gl ] 5 g
_ 30_\_“ 15. 43+( 62)+8B —'°?_ /'_7‘_4

raluate the expression for the given value of x.

16. 24 +x+ (-18);x=—68 QZED 17. 42+ |—x| +(-68):x=6 @\
Solve the equation. -

18. -3+ x+ 4= 6'?(:""5"1 20. -98+x+62=0 [X=‘ 3-_(4__]




Practice C
For use with pages 80-85

Find the difference.

1. 245-(-16) 4“o.§
a. —9.6—(-14.8) _S’.g\
7. 425 -(-68) 1\.08

0 %_% @ 11. _§_ “%) ,:__l_TS__\__

Evaluate the expression when x = -8.25 and y = 6.9.

13, x—y+6.1 k:E_BFJ 22. ~63+x-(=y) |-=),LS S

19. 79—y {x "“},QS - —
| 23. |-x| + 1425 - [Ig.(,!

I Practice C
24 For use with pages 87-93

Find the product.

. —isap O C%SJ 2. —7.6(2.5) ):ri(
0 3.(=66) " e e
4. —6.2509.1) (-;L,.Q‘#S‘ 5. 77(~66) \-ﬂl

8. 4.2(-3)—51) m‘oFJ
0. 2-25(2) (Zy2 ) el
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Identify the property illustrated.

13. -1 ()= MULT PROPEeTY of -|

4. (F10-13):2=-10-03-2)  Associative Peupeery
3 3 - -

15. (5'4)(5)=(4-g](5) Commuurr;dg PKUPEQT‘f

Find the product. Justify your steps.

® &
i =7 (2. Comn.
16. —5.5(2)(2_6) =|o 17. =7x(3.52x) — 7(3$3X (Zx) omm, P
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Evaluate the expression when x = —2.5 and y = 1.2. —5 4.5 P AR Lomm. P
19. 3x+y (@ ' 20. y — 5x (‘% A | ) -4q x-x Pradict
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25. Lake Eyre The lowest point in Australia is Lake Eyre. Its elevation is
— 12 meters. What is this elevation in feet? Hint- Use the fact that

| meter = 3.28] feet. ~ = £
gxs . \m=3.28] 12k o 328515y —
e X A w2 |73 .312%\
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m Practice C ;

For use with pages 96 -101 1

Use ti\_%_tﬂ\stributive:ropfrt towr‘i:t_\g\g\n equi%sion.
1. SG+3) |Ex%F+1SK]| .. 2 -8) |2ZxL-lbX

a (1??@7;;)@5 lr(_s}ﬁ—ﬂ\l) \Ux-He
. N 2 -
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Yeve — Tvraess o B 2

7. —4(16 4X)l_q 4% °,\__8. 4x(81+2) \(px' + 3sz \OQ\M I
341

ldentify the terms, like terms, coefficients, and constant terms of E"[l’frma Ux 7..’ "3)‘/ \/-SX 7.} -

expression. Tesm st -Z_x‘-; 3)(, S -1

\F & 4 CoF: 6,3 =S
10. 2% +3x+5c—] LT's: 3x,8§x 1 12, 6x? = 3x+ 1 - 5x2 + 2 Constrantss (,7.

CotF: 2 3,5 CowsTT: - LT's - GX"*"‘:XL', (2
Simplify the expression. - - -
13. 35x—1)+7 [ISx+4 | 15, 7(r—3) - 2c = Tx-24-2% s|sx-21|
—— Eamid ~
16. 10x ~3(2x +8) 1o X ~Lx -2% = | 4x -2 18. 14x — 53 - 2x) 14x ~IS+Iox = [4x-IS]
=
19. (4x (\1)(—2) T 5x ~FXT+LHSX= |7X+2 \ 21. 20 - (8 —x)(-3)
20 -[-24+3y | =a0t2-3x=

Translate the verbal phrase into an expression. Then simplify the expression. }'33‘ +4Y [

22. Twice the difference of § and x, increased by the product of 2 and x |2 ( S‘-—A +32x2] 10
23. The product of —5 and the sum of x and 8, decreased by the product of 3 and x \—S (X .\_%3 ..3)('."‘8)(-"'3-\

24. Quilts You are using splid colored fabric that costs $.06 per square and patterned
fabric that costs $.10 per square to make a quilt. You need 660 squares to complete

the quilt. Write an equation that gives the total cost c as a function of the number 5

of solid squares used. Then find the total cost if you use 200 solid colored squares.
N {
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Practice C [EBa: € =.0LN +.1 (beo-m)) [cew"s‘i
For use with pages 103-108

€ =.06 (208 1.1 (60 =200) —

Find the quotient. _LEAVE Answiée s A S FRACTIONS
. = £ 18
1. —285'(—‘?7) = "‘%f" di :lE 3. _5*4 = "'E.;o -}I ly3zl
g : -1 .\7
o -1x(-5) = =X =|§S/3! 6. 59 -k 2 \gs
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Find the mean of the numbers.
10. -5,1, —-16,7 11. 7.4,-83,95 -10.6 12. -3.5,-87,112, -36
——— -Q e ——— -4-L -
- _ ——-_l.'.s : == . l...\_\:;
= 2335 4 = |8 g

Simplify the expression.

—Tx 4+ 21 24x — 48x ~24x 18 38x — 28
16. 257 X-3 7. 7/ = 77_"-_-]-1)(8 S R L b




Graphlng Calculator Activity:
Evaluating Expressions

For use after Lesson 26

LI How can you use a calculator to evaluate expressions?

BIYIYE Evaluate expressions
Use a calculator to evaluate each expression. _
Ma.) —254.044 4+ (—63.851) (Y 301 =1=739)
/

™\ 230,595
~105 X (-878) (a.) BT

Solution

Use the following 'keystrokes to find your answer.

o) 8254044

PRACTICE [ Use

a calculator to evaluate the expression.

1. -36952 + 65244 9 §,292

3. 5843 X (=377) = 9707 RN
—69,951 /L _—Qy—"

a. — @l 8. 21,036 - 34,699 _ |3, \,&,3

7. -962 x 48 ""H;.\'lb 9. \_230 s

24 \‘ - l'\%\-ag l_



